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Vergleich mit absoluten Werten Name:
Benutze >, < und = um zu vergleichen. Antworten
D 171 63|
- 1.
2 33 72
— 2.
3 |-62] |21
— 3.
4 3 82
- 4.
5 |31 -10
- 5.
6 |82 |13 .
7 24 50
- 7.
8 |85  |36] .
9 1471 50
— 9.
100 .35 27 o
1) |70 |57] .
12) .60  |-82] .
13) |s6| |58 s
14) 48 |45 y
15 55|  -81 .
16) 37 |57| y
1) 46 -7 .
18) 1131 73] .
19) .38 -50 g
20) |51 -98 .
1-10195|90|85(80|75|70| 65|60 (55|50
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C:# Vergleich mit absoluten Werten

Name: L Osungsschlissel
Benutze >, < und = um zu vergleichen. Antworten
D |-17] < |-63] 1 <
2 33 < 72 2 <
3 |-62| > |-21 N >
49 3 < 8 . <
5 |-31] > -10 . S
® |82 > |-13| 6. >
) 24 > -50 , S
8 |-85 > |36] X S
9 147 < 50 . <
10) .35 < 27 o -
1) 70| > |57] " S
12) -60 < |-82| » <
13) |g6| > |58 " S
9 48 > |49 14, >
15 |55 > -81 . S
16) 37 < |-57| . <
0 6 > -7 17. >
18) 113] < 73] " <
19) -38 > -50 o S
20) |51 > -98 o S
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